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GENERAL AWARENESS

1) The Dilwara Jain Temples are found in ___
a) Khajuraho b) Mount Abu c) Delhi d) Agra Ans (b)

2) Chatrapati Shivaji was a follower of ___
a) Kabir b) Ramdas c) Ramanuja d) Ramananda Ans (b)

3) Kaziranga national park is famous for -
a) Project Tiger b) Two horned Rhino c) One horned Rhino d) Operation flood Ans (c)

4) The ph of lemon juice is expected to be -
a) Equalto 7 b) Lessthan 7 c) More than 7 d) None of the above Ans (b)

5) Which is the oldest mountain range in India?
a) Satpura Range b) Aravli Range c)Vindhya Range d) Pir Panjal Range Ans (b)

6) Badrinath temple is in which state?
a) Tamilnadu b) Uttrakhand c) Himachal Pardesh d) Assam Ans (b)

7) Who is Known as the Iron Man of India?
a) Govind Vallabh Pant  b) Jawaharlal Nehru c) Subhash Chandra Bose d) Sardar Vallabh bhai Patel Ans (d)

8)  Which country is known as the 'Sugar Bow!' of the world
a) Cuba b) China c) India d) Australia Ans (a)

9) Which countries are associated with "Quad"
a) India China US and Australia b) India Japan US and Australia c) India Japan US and Brasil d) India China US and Russia Ans (b)

10) Virat Kohli's 100th Test match was played in
a) Bindra PCA Stadium  b) Narendra Modi Stadium ¢) Chepuk Stadium d) Eden Gardens Ans (a)

1) Choose the mis-spelt word?
a) Tremor b) Terrace c) Transmitter d) Terorism Ans (d)

2) Choose the correct synonym of the given word:Effusion

a) Shocking b) Pouring forth c) Threatening d) Compensation Ans (b)
3) Before he (become) the president of the United States, Lincoln (fail) many times.
a) become, had failed b) became, have failed c) became, had failed d) becaame, has failed Ans (c)

4) Yesterday | met European playing with children

a) an, a b) an, the c)a,a d) a, the Ans (d)
5) Our country is spiritual country, theirs religious.

a)is b) are c) also d) have Ans (a)
6) Our sir teaches Mathematics English.

a) Across b) Besides c) beside d) both Ans (b)
7) Select same meaning of the underlined word : Take care not to get hurt with the steam from the Kettle.

a) Burnt b) Bruised c) Scalded d) Cut Ans (c)
8) My grandfather walks very (Note: complete the sentense with the correct option)

a) Quick b) Fastly c) Fast d) Nice Ans (c)

9) Choose the correct spelling :
a) Amatuer b) Amature c) Amateur d) Ameteur Ans (c)

10) Find the mis-spelt word :
a) Annex b) Aniversary c) Animate d) Animosity Ans (b)
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APTITUDE

1) Find out the wrong number in each sequence: 25, 36, 49, 81, 121, 169, 225
a) 169 b) 121 c) 49 d) 36 Ans (d)
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2) How many times in a day, the hands of a clock are straight?
a)22 b) 24 c)44 d) 48 Ans (c)

3) The length of the side of a square (5 cm * 5 cm) is increased by 1 %. By what percentage the area of the square increases?
a) 1% b) 2% c)5% d) 4% Ans (b)

4) A per buys 3 items of Rs. 1500 each and 2 items of Rs. 1800 each from a shopping mall. On a total bill a discount
of 10% is given. What is the average cost of the items?

a) 1000 b) 1458 c) 1658 d) 1550 Ans (b)
5)  The average of the first five multiples of 9 is:
a) 20 b) 27 c)28 d) 30 Ans (b)

6) The speed of the train going from Nagpur to Pune is 100 km/h. While when coming back from Pune to Nagpur,
its speed is 150 km/h.Find the average speed during whole journey.
a) 125 km/h b) 75 km/h c) 135 km/h d) 120 km/h Ans (d)

7)  The sum of the present ages of a father and his son is 60 years. Six years ago, father's age was five times the age of the son.
After 6 years, son's age will be:

a) 12 years b) 14 years c) 18 years d) 20 years Ans (d)
8) All bags are cakes. All Lamps are cakes Conclusion 1. some lamps are bags 2. No lamp is bag.

a) Only conclusion 1 follows b) Only conclusion 2 follows ¢) Either 1 or 2 follows d) None Follows Ans (c)
9) In 100 m race, A covers the distance in 36 seconds and B in 45 seconds. In this race A beats B by:

a)20 m b)25 m c)225m d)9m Ans (a)

10) All mangoes are golden colour. No Golden colour things are cheap. Conclusions: 1. All mangoes are cheap 2.
Golden colour mangoes are not cheap
a) Only conclusion 1 follows b) Only conclusion 2 follows c) Either 1 or 2 follows d) None Follows Ans (b)

ANALYTICAL REASONING

1) Arrange the given words in alphabetical order and choose the one that comes first.
a) Foreign b) Foment c) Forceps d) Foliage Ans (d)

2) A farmer built a fence around his square plot. He used 27 fence poles on each side of the square.
How many poles did he need altogether?

a) 100 b) 101 c) 102 d) 104 Ans (d)
3) Select the number from among the given options that can replace the (?) in the following series - 121, 169, 225, 289, ?

a)410 b) 305 c) 398 d) 361 Ans (d)
4) Select the number from among the given options that can replace the (?) in the following series - 121, 169, 225, 289, ?

a) Moon b) Sun c) Universe d) Star Ans (c)
5) Insect:Disease :: War: ?

a) Army b) Defeat c) Arsenal d) Destruction Ans (c)

6) Book:Cover :: Painting:?
a) Example b) Wall c) Colour d) Frame Ans (d)

7) Which word does NOT belong with the others?
a) Beak b) Rudder c) Fin d) Wing Ans (a)

8) Which word does NOT belong with the others?
a) Index b) Glossaru c) Book d) Edition Ans (c)

9) Look at this series: 12,11, 13, 12, 14, 13, ... What number should come next?
a) 10 b) 16 c)13 d) 15 Ans (d)

10) Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?
a)7 b) 12 c) 10 d) 13 Ans (c)



